Civil Structure of Water Pool

Changgen Yang
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1# & 2# water pool and veto structure
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3# water pool and veto structure
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Main advantages:

e The total volume for three water pools decreases about 515 m3. This
means that the same volume rock will not be dug and we will save
515 m3 pure water for each experiment period.

* Itis more easy to dig this water pool than the base line, especially
for the pool corners.

e The total surface area for three water pools reduces about 308 m?
(side area 205 m?, up and down area 103 m?) . So we can save the
liner about 256 m?.

e With the current PMT density of about one PMT per 2.4 m?, about
100 PMTs could be saved to increase the present PMT density.

* |tis obvious that water flows more smoothly in this new structure.
The water flow in a semi-round pool rather than a rectangular pool.
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